REZFEENER)

PBEASMELL Y —E RIBEE RS X 1B S AEEIA B

EXFA: 2B Bl

8A 98 108 118 12H 1A 2R 3R 4R 5AH 6R 1R &&t
FAERA(A) 3 A 3 A 4 N 4 N 5 A 5 A 6 A 6 A 7 A 7 A 8 A 8 A 66
ﬁfgf_“ﬂ?ﬁﬁ 12 12 12 12 12 12 12 12 12 12 12 12 144
NI ES 0 0 36 36 48 48 60 60 72 72 84 84 600
g [FEIRA 0 0 0 0 0 0 0 0 0 0 0 0 0
é*ﬂﬁﬁ%%i&ﬁ(m 3 A 3 A 4 N 4 N 5 A 5 A 6 A 6 A 7 A 7 A 8 A 8 A 66
A ﬁfi’f_"ﬂ?ﬁﬁ 13 13 13 13 13 13 13 13 13 13 13 13 156
N ES 0 0 39 39 52 52 65 65 78 78 91 91 650
UL A 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHA) 0 0 75 75 100 100 125 125 150 150 175 175 1,250
ANgE 100 100 100 100 130 100 100 100 100 100 100 130 1,260
Wl BB 2 2 2 3 3 3 4 4 4 5 5 5 42
X |EHBRERE 0 0 0 0 0 0 0 0 0 0 0 0 0
E BIEE 2 2 2 2 2 2 2 2 2 2 2 2 24
A |FERE 25 25 25 25 35 25 25 25 25 25 25 35 320
T T F A 50 50 50 50 50 50 50 50 50 50 50 50 600
&EHB) 179 179 179 180 220 180 181 181 181 182 182 222 2,246
F25(A—B) ~179 179 —104| 105 ~120 80 56 56 31 -32 -7 —47 -996

X BEIFEMICEESTIIELT,
X OB —ERRBEBOE L BICRYAEFNFET,
(Bl:4 A9 —ERRHSE. AITERL. 6 AICIRYAENET )

X HRECHERE. LHKE EWMEEE. MEE. ERLEE. BRAR. HERKRM. LUALHE
EREABRECE L, KRN THLEBULTRB T LL T,

X ATHFAEOAHLYD) OBRFERULEXREM (Y—EXB)+E£TOMRIZ OV TERERTHE,)

TP MG IEAR EAR527=H1{15270
5l 88 Hi{5270 x FFAE3A x #4E B £23H =363,630
TF M EBRE EAR566=H{15660
5l 88 Hi{15,660 % F|FAE3A x B8 B £23H =390,540




WX FEEQER)

PBEASMELL Y —E RIBEE RS X 1B S AEEIA B

EXFA: 2B Bl

8A 98 108 118 12H 1A 2R 3R 4R 5AH 6R 1R &&t
FAERA(A) 9 A 9 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 118
AT 15 15 15 15 15 15 15 15 15 15 15 15 180
NI ES 96 96 135 135 150 150 150 150 150 150 150 150 1,662
g [FEIRA 0 0 0 0 0 0 0 0 0 0 0 0 0
é FRERAMB)| 9 A oA [ oA J1oA ] 10A ] 10K 10oKNTT1w0oXNTT 10X 10X ] 10X ] 10X 118
A ﬁfi’f_"ﬂ?ﬁﬁ 15 15 15 15 15 15 15 15 15 15 15 15 180
dE Lk 104 104 135 135 150 150 150 150 150 150 150 150 1678
UL A 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHA) 200 200 270 270 300 300 300 300 300 300 300 300 3,340
ANgE 110 110 110 110 140 110 110 110 110 110 110 140 1,380
RE. XRE 6 6 6 7 7 7 8 8 8 9 9 9 90
¥ |=xmeEs 0 0 0 0 0 0 0 0 0 0 0 0 0
E BIEE 2 2 2 2 2 2 2 2 2 2 2 2 24
A |FERE 30 30 30 30 45 30 30 30 30 30 30 45 390
T T F A 50 50 50 50 50 50 50 50 50 50 50 50 600
&EHB) 198 198 198 199 244 199 200 200 200 201 201 246 2,484
F25(A—B) 2 2 72 71 56 101 100 100 100 99 99 54 856

X BEISFHMICERETHIELT,

X OB —ERRBEBOE L BICRYAEFNFET,

(Bl: 4R Y—ERRES L. 5AI

—zx
~af

RL.6AIZRYRAFENET )

X HRECHERE. LHKE EWMEEE. MEE. ERLEE. BRAR. HERKRM. LUALHE
EREABRECE L, KRN THLEBULTRB T LL T,

X ATHFAEOAHLYD) OBRFERULEXREM (Y—EXB)+E£TOMRIZ OV TERERTHE,)

TP MG IEAR EAR655=H{16550
5l 88 Ei{i16,550 x FIF&E3A x $R{8 H %4230 =451,950
FMEZERBRE EAR631=H51{16310
5 88 Hi{16,310 % F|FAE2A x {8 B £23H =290,260




N2 FEE MHS=ET15H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(Bf7 : AF)

EERBONE  [BREGRES (S RmiEE-BHFR)

8H 9H 10H 11H 12H 1A 2R 3R 48 5H 6H 7B &st

L PR sA | 3A | an | ax| sA | sA| sA| sA| sA| sA| 6A]| 6A 56
é EE%E/E%”M 260| 26.0| 345| 345| 430| 430| 430]| 430| 430| 430| 515| 515| 482.0
A as(A) 26.0| 26.0| 345| 345| 430| 430| 430| 43.0| 430| 430 s515| s515| 4820
| vEEE 05| o5| o5| os5| o5| 05| os5| os5| os5| o5| 05| o5 6.0
§ (@e TESAm) | 255| 255| 340| 340| 425| 425| 425| 425| 425| 4a25| s1.0| s51.0| 476.0
A ast(s) 26.0| 26.0| 345| 345| 430| 430| 430| 430| 430 430| s515| s515| 4820

FS(A - B) 00| o00| oo| o0o| o0l o0l 00| 00| 00| 00| 00| 00 0.0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET26H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEf7 : 5F)
LEFHONS  |RBREE (SRR MR BAEL)
sB| oA| 108] 18| 128] 18| 28| 3R] 48| 5B| 6A| 7A| a

L PR 6A | 6A | 6A| 64| 64| 64| 64| 64| 64| 64| 64| 64 72
é Eﬁfﬁiﬂ(;%éﬂyx 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 618.0
2 B&5t(A) 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 618.0
| wEEE 05| o5| os| os| os5| os| os| o5| 05| os5| 05| 05 6.0
§ (B -ITE&EAR) 51.0 51.0 51.0 51.0 51.0 51.0 51.0 51.0 51.0 51.0 51.0 51.0 612.0
2 B551(B) 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 51.5 618.0
FIZ(A - B) 00| ool 00| oo| ool 00| ool oo| 00| ool oo| 00| o0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET15H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEf7 : 5F)
EEEHONS  |ERBGEE (S RREE - BHER)
gA] 9A| 10A| 11A| 12A] 1A| 2R| 3R] 4A| 5A| 6AR| 7A| a

T A | 3Al 2A | 2A | 3A| 3A | 3A | 3A | 4aAn | an| an]| 4 38
é TEEMCRSEAL 80| 80| 55| ss| so| so| so| so| 05| 105| 105| 105 1010
R aEt(A) go| 80| 55| 55| s8o| so| so| 80| 105| 105| 105| 105 1010
| pEEE 05| os5| os5| os5| os5| os5| os5| os5| os5| os5| o5| o5 6.0
§ (&€ -ITE&%BRY) 7.5 7.5 5.0 5.0 7.5 7.5 7.5 7.5 10.0 10.0 10.0 10.0 95.0
A ast(B) go| 80| 55| 55| s8o| so| so| so| 105| 105| 105| 105 1010
(A - B) 0.0 ool ool ool ool ool oo| oo0| oo| oo0| 00| o0 0.0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET26H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEf7 : 5F)
LEFHONS  |RBREE (SRR MR BAEL)
sB| oA| 108] 18| 128] 18| 28| 3R] 48| 5B| 6A| 7A| a

T sA | sA| 6x| 6A | 6A | 64| 64| 64| 64| 64| 64| 64 70
é Eﬁfﬁigg%éﬂyx 13.0 13.0 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 181.0
2 B&5t(A) 13.0 13.0 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 181.0
| wEEE 05| o5| os| os| os5| os| os| o5| 05| os5| 05| 05 6.0
§ (&€ -ITE&%BRY) 12.5 12.5 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 175.0
2 B551(B) 13.0 13.0 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 15.5 181.0
FIZ(A - B) 00| ool 00| oo| ool 00| ool oo| 00| ool oo| 00| o0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET15H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEfiz : 7o)
HEFEEBONS | 7/-NKEER
8H 9H 104 118 12H 18 2H 3H 48 5H 6H 7R| &t

= ﬂﬁﬁfji@;’: 0 A 0 A 0 A 0 A 0 A 0 A 1A 1A 2 A 2 A 2 A 2 A 10
é Eﬁisﬁii(;%éuy)\ 0.0 0.0 0.0 0.0 0.0 0.0 9.5 9.5 19.0 19.0 19.0 19.0 95.0
2 ast(A) 0.0 0.0 0.0 0.0 0.0 0.0 9.5 9.5 19.0 19.0 19.0 19.0 95.0
42 MERE 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 1.0 1.0 1.0 1.0 6.0
§ (BE-TEFAR) 0.0 0.0 0.0 0.0 0.0 0.0 8.5 8.5 18.0 18.0 18.0 18.0 89.0
A ast(B) 0.0 0.0 0.0 0.0 0.0 0.0 9.5 9.5 19.0 19.0 19.0 19.0 95.0
FlzE(A - B) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET26H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEf7 : 5F)
HFEFEIONS A S =
8] 9A] 18] 18] 128] 18| 28] 38| 48] sB| e8| 78| &

L PR 3A | 3A | an| an | ax | an| an | ax| an| an]| an]| ar 46
é EE%E/E%”M 265| 265| 355| 355| 355| 355| 355| 355| 355| 355| 355| 355| 408.0
A as(A) 265| 265| 355| 355| 355| 355| 355| 355| 355| 355| 355| 355| 408.0
| vEEE 10| 10| 15| 15| 15| 15| 15| 15| 15| 15| 15| 15| 170
§ (me-TEZAR) | 255| 255| 340| 340| 340| 340| 340| 340| 340| 340| 340| 340 3910
A ast(s) 265| 265| 355| 355| 355| 355| 355| 355| 355| 355| 355| 355| 408.0
FS(A - B) 00| o00| oo| o0o| o0l o0l 00| 00| 00| 00| 00| 00 0.0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET15H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEf7 : 5F)
LEEDONG | 7/— NUEER
gA] 9A| 10A| 11A| 12A] 1A| 2R| 3R] 4A| 5A| 6AR| 7A| a

T oA | oAl 24 2A | 2A ] 24 3A | 3A | 3A| 3A| an]| 4 28
é EE%E}QQ%%HYR 0.0 0.0 5.5 5.5 5.5 5.5 8.5 8.5 8.5 8.5 11.5 11.5 79.0
2 B&5t(A) 0.0 0.0 5.5 5.5 5.5 5.5 8.5 8.5 8.5 8.5 11.5 11.5 79.0
| pEEE 00| oo| os5| os5| os5| os5| 10| 10| 10| 10| 15| 15 9.0
§ (&€ -ITE&%BRY) 0.0 0.0 5.0 5.0 5.0 5.0 7.5 7.5 7.5 7.5 10.0 10.0 70.0
2 B551(B) 0.0 0.0 5.5 5.5 5.5 5.5 8.5 8.5 8.5 8.5 11.5 11.5 79.0
(A - B) 0.0 ool ool ool ool ool oo| oo0| oo| oo0| 00| o0 0.0

X HEEEBOABTIEICEHL TS0,




N2 FEE MHS=ET26H

BEAVEIL Y —ERTEE RSB SRE S HAERAB

FEF% - fzBtEL

(BEf7 : 5F)
LEEDONG | 7/— NUEER
gA] 9A| 10A| 11A| 12A] 1A| 2R| 3R] 4A| 5A| 6AR| 7A| a

T an | ax | ax ] an | an| an | ax | an| an| an]| an]| ar 48
é fEEfEE}ég%éHYK 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 138.0
2 B&5t(A) 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 138.0
42 WERRE 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 18.0
§ (&€ -ITE&%BRY) 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 120.0
2 B551(B) 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 11.5 138.0
(A - B) 0.0 ool ool ool ool ool oo| oo0| oo| oo0| 00| o0 0.0

X HEEEBOABTIEICEHL TS0,




